KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION.

WELL COMPLETION FORM WELL-HISTORY - DESCRIPTION OF WELL & LEASE

Form must be Signed All blanks must be Filled

| CUNFIDENTIA |
|----------------------------|
| OPERATOR: License # 32638 |
| Name: Nadel and Gussman, L |
| Address 1: 15 E. 5th St |

Title: Regional Production Manager

| A LOCATINE | |
|---|--|
| OPERATOR: License # 32638 | API No. 15 |
| Name: Nadel and Gussman, LLC | Spot Description: |
| Address 1: 15 E. 5th St | SW_SE_SE_ Sec. 16 Twp. 32 S. R. 9 Fast West |
| Address 2: Suite 3200 | 165 Feet from North / South Line of Section |
| City: Tulsa State: OK Zip: 74103 + | |
| Contact Person: Kim Tackett | Footages Calculated from Nearest Outside Section Corner: |
| Phone: (918) 582-9900 ext 222 | □NE □NW ☑SE □SW |
| CONTRACTOR: License #_34600 | County: Chautaugua |
| Name: Horizon Energy Services, LLC | Lease Name: DJK Well #: 2A-16-32-9 |
| Wellsite Geologist: Shane Matson | Field Name: Unnamed |
| Purchaser: | Producing Formation: Arbuckle |
| Designate Type of Completion: | Elevation: Ground: 1161 Kelly Bushing: 1171 |
| <u>-</u> | Total Depth: 3757 Plug Back Total Depth: 3757 |
| | _ ` ` ` ` ` ` ` ` ` ` ` ` ` ` ` ` ` ` ` |
| ☐ Oil ☐ wsw | Amount of Surface Pipe Set and Cemented at: 143 Feet |
| ☐ Gas ☐ D&A ☐ ENHR ☐ SIGW | Multiple Stage Cementing Collar Used? ✓ Yes No |
| ☐ OG ☐ GSW ☐ Temp. Abd. | If yes, show depth set: 578 Feet |
| CM (Coal Bed Methane) | If Alternate II completion, cement circulated from: 578 |
| Cathodic Other (Core, Expl., etc.): | feet depth to:w/80 sx extended light & 50 sx *A" sx cmt. |
| If Workover/Re-entry: Old Well Info as follows: | 4 |
| Operator: | Drilling Fluid Management Plan |
| Well Name: | (Data must be collected from the Reserve Pit) |
| Original Comp. Date: Original Total Depth: | Chloride content: 1000 ppm Fluid volume: 8,000 bbls |
| ☐ Deepening ☐ Re-perf. ☐ Conv. to ENHR ☐ Conv. to SWD | |
| Conv. to GSW | Dewatering method used: evaporation |
| Plug Back: Plug Back Total Depth | Location of fluid disposal if hauled offsite: |
| Commingled Permit #: | Operator Name: |
| Dual Completion Permit #: | Lease Name: License #: |
| ✓ SWD Permit #: <u>D-3</u> 0997 | QuarterSEONFIDENTIAL S. R East West |
| ENHR Permit #: | |
| GSW Permit #: | County: MAR 1) 8 Permit #: RECEIVED |
| 12-13-2011 | MAD 4 a ann |
| Spud Date or Date Reached TD Completion Date or Recompletion Date | KCC MAR 1 6 2012 |
| INSTRUCTIONS: An original and two copies of this form shall be filed with Kansas 67202, within 120 days of the spud date, recompletion, workover or coffide two of this form will be held confidential for a period of 12 months if recompletion. | quested in writing and submitted with the form (see rule 82-3-107 for confiden- ell report shall be attached with this form. ALL CEMENTING TICKETS MUST |
| · | · |
| AFFIDAVIT | KCC Office Use ONLY |
| I am the affiant and I hereby certify that all requirements of the statutes, rules and lations promulgated to regulate the oil and gas industry have been fully complied | d with Letter of Confidentiality Received |
| and the statements herein are complete and correct to the best of my knowled | 2017 - 3014 |
| | Confidential Release Date: |
| Signature: Tennis of Walth | Wireline Log Received |
| Signature: | Seologist Report Received |

Date: 2-27-2012

UIC Distribution

ALT 1 1 1 III Approved by:

IMMIGHIOU

,

| Operator Name: Na | <u>del and Gussmaı</u> | n, LLC | Lease | Name: _ | DJK | | _Well #: _2A | <u>-16-32-</u> | .9 |
|---|--|--|-----------------------------|------------------|--|----------------------|---|----------------|---|
| Sec. 16 Twp.32 | s. R. <u>9</u> | ✓ East | County | : Chau | ıtauqua | | 1.IIIIT | · | |
| time tool open and cle | osed, flowing and sho es if gas to surface to | nd base of formations pe ut-in pressures, whether est, along with final char Il well site report. | shut-in pres | sure rea | ched static leve | l, hydrostatic pres | sures, bottom | hole temp | perature, fluid |
| Drill Stem Tests Taker (Attach Additional | | Yes No | | 7 | og Formati | on (Top), Depth a | nd Datum | | Sample |
| Samples Sent to Geo | logical Survey | ✓ Yes ☐ No | | Nam | e | | Тор | | Datum |
| Cores Taken Electric Log Run Electric Log Submitte (If no, Submit Cop) List All E. Logs Run: Porosity; Indu | d Electronically | Yes No Yes No Yes No | | Big Lir Oswe | ont Lime ne (PWNE) go Lm (Ft. Sco sippi Lm) | tt Lm) | 1873 (MD) 1966 (MD) 2003 (MD) 2326 (MD) 2663 (MD) | | 171 (KB) 161 (GL) |
| | | | | ABCK | | | 2676 (MD) | | |
| | | CASING Report all strings se | G RECORD t-conductor, su | ✓ Ne | | ction, etc. | | | |
| Purpose of String | Size Hole Drilled | Size Casing Set (In O.D.) | Weig | | Setting Depth | Type of Cement | # Sacks Used | | and Percent Additives |
| Surface | 14-3/4 | 9-5/8 | 36 | | 143 | Class "A" | 60 | 2%Ca | Cl & 2% gel |
| Production | 8-3/4" | 7 | 26 | | 2774 | OWC & "A" | 320 total | 10% sait,2 | 2% gel,5% gypsum |
| | | ADDITION | L CEMENTI | MC / POL | JEEZE RECORI | | | <u> </u> | |
| Purpose: Perforate | Depth Top Bottom | Type of Cement | # Sacks | - | JEEZE RECORE | | Percent Additives | 3 | The self-self-self-self-self-self-self-self- |
| Protect Casing Plug Back TD Plug Off Zone | | | | | | | | | |
| | PERFORAT | ION RECORD - Bridge Plu | ins Set/Tyne | | Acid Fr | acture, Shot, Cemer | nt Squeeze Recor | rd | |
| Shots Per Foot | | Footage of Each Interval Pe | | | | Amount and Kind of M | | | Depth |
| Open Hole | 2774' to 3757' | | | · | 5500 gal 15 | 5% HCL | | | 2774'-3757' |
| | | | | | | CONFIDE | NTIAL | | |
| | | · - - | | _ | | MAR 0 8 | 1 2011 | RECE | ŀ |
| | | ************************************** | | | | KC | C | 1AR 1 | 6 2012 |
| TUBING RECORD: | Size: 1-1/2" | Set At: 2760' | Packer A 2760 | t: | Liner Run: | Yes No | | C WI | CHITA |
| Date of First, Resumed | Production, SWD or EN | NHR. Producing Me | ithod: Pumpin | g 🔲 | Gas Lift 🗸 | Other (Explain) S | WD well | | |
| Estimated Production Per 24 Hours | Oil | Bbls. Gas | Mcf | Wat | er I | Bbis. | Gas-Oil Ratio | | Gravity |
| | | | | | | | | | |
| | ON OF GAS: | ✓ Open Hole | METHOD OF Perf. | COMPLE Dually | | ommingled 2 | PRODUCTI '774' to 3757 | ON INTER | .VAL: |
| Vented Solo (If vented, Sui | l Used on Lease bmit ACO-18.) | Other (Specify) | | (Submit / | | bmit ACQ-4) | 774 10 3701 | | Margarith Control of the Control of |



REMIT TO

Consolidated Oil Well Services, LLC Dept. 970 P.O. Box 4346

MAIN OFFICE P.O. Box 884 Chanute, KS 66720 620/431-9210 • 1-800/467-8676 Fax 620/431-0012

Houston, TX 77210-4346

RECEIVED DEC 1 4 2011

INVOICE Invoice #

1

Page

NADEL AND GUSSMAN, LLC 15 EAST 5TH STREET, SUITE 3200 TULSA OK 74103-4340 (918) 583-3333

Invoice Date: 12/09/2011 Terms: 10/10/30,n/30

DJK-2A-WD 3390002 12/01/11 KS

| ======================================= | | | ========== | ======= |
|---|-------------------------|--------|------------|---------|
| Part Number | Description | Qty | Unit Price | Total |
| 1104S | CLASS "A" CEMENT (SALE) | 50.00 | 14.2500 | 712.50 |
| 1102 | CALCIUM CHLORIDE (50#) | 150.00 | .7000 | 105.00 |
| 1107A | PHENOSEAL (M) 40# BAG) | 40.00 | 1.2200 | 48.80 |
| Sublet Performed | Description | | | Total |
| 9999-240 | CASH DISCOUNT | | | -146.57 |
| 9999-240 | CASH DISCOUNT | | | -86.63 |
| Description | | Hours | Unit Price | Total |
| 419 CEMENT PUMP (S | URFACE) | 1.00 | 825.00 | 825.00 |
| 419 EQUIPMENT MILE | AGE (ONE WAY) | 70.00 | 4.00 | 280.00 |
| 419 CASING FOOTAGE | | 146.00 | .21 | 30.66 |
| T-93 MIN. BULK DELI | VERY | 1.00 | 330.00 | 330.00 |

CONFIDENTIAL MAR 0 8 2014

KCC

RECEIVED MAR 1 6 2012 KCC WICHITA

Amount Due 2403.87 if paid after 01/08/2012

| | 000.50 | Freight: | .00 | Tax: | 64.72 | AR | 2163.48 |
|----------|---------|-----------|-----|---------|----------|----|---------|
| Labor: | .00 | Misc: | .00 | Total: | 2163.48 | | |
| Sublt: | -233.20 | Supplies: | .00 | Change: | .00 | | |
| ======== | | | | | -======= | | |
| | | ~~ | | : | | | ======= |

BARTLESVILLE, OK 918/338-0808

Signed

EL DORADO, KS 316/322-7022

EUREKA, KS 620/583-7664

PONCA CITY, OK 580/762-2303

OAKLEY, KS 785/672-2227

OTTAWA, KS 785/242-4044

THAYER, KS 620/839-5269

Date

GILLETTE, WY 307/686-4914

CEMENT FIELD TICKET AND TREATMENT REPORT

| Customer | NADEL &GUSSMAN | State, County | Chautauqua, Kansa | Cement Type | CLASS A |
|-----------------------------|--|---|------------------------------|---|--|
| Job Type | SURF | Section | 1 | Excess (%) | 50 |
| Customer Acct # | 570 | TWP | | Density | 15.5 |
| Well No. | DJK-2A-WD | RGE | | Water Required | 13.3 |
| Mailing Address | DSR42A44D | Formation | | Yeild | 1.18 |
| City & State | | | 40.05 | | 1.10 |
| | · | Hole Size | 12.25 | Slumy Weight | ļ |
| Zip Code | | Hole Depth | 150 | Sturry Volume | <u> </u> |
| Contact | | Casing Size | 9.625 | Displacement | 10 |
| Email | | Casing Depth | 146 | Displacement PSI | 200 |
| Cell | | Orill Pipe | | MIX PSI | 20 |
| Dispatch Location | BARTLESVILLE | Tubing | | Rate | |
| | | | | | |
| Code | Cement Pump Charges and Mileage | Quantity | Unit | Price per Unit | |
| 5401S | CEMENT PUMP (SURFACE PIPE) | 11 | 2 HRS MAX | \$825.00 | \$ 825.00 |
| 5406 | EQUIPMENT MILEAGE (ONE-WAY) | 70 | PER MILE | \$4.00 | \$ 280.00 |
| 5407 | MIN. BULK DELIVERY (WITHIN 50 MILES) | 1 | PER LOAD | \$330.00 | \$ 330.00 |
| . 0 | | | 0 | \$0.00 | \$ - |
| 0_ | | | 0 | \$0.00 | 1\$ - |
| 0 | | | 0 | \$0.00 | S - |
| 0 | | | 0 | \$0.00 | S - |
| 0 | | _ | 0 | \$0.00 | \$ - |
| STREET TO STREET | FOTAGE | 146 | PER FOOT | | \$ 30.66 |
| | | | <u> </u> | QUIPMENT TOTAL | |
| | Coment Chambridge and Market | | T | COLUMN TOTAL | \$ 1,465.68 |
| | Coment, Chemicals and Water | | | | |
| 11045 | CLASS "A" CEMENT (SALES) BLEND(SK) | 50 | 0 | \$14.25 | \$ 712.50 |
| 1102 | CALCIUM CHLORIDE | 150 | 0 | \$0.70 | \$ 105.00 |
| 1107A | PHENOSEAL | 40 | 0 | \$1.22 | \$ 48.80 |
| 0 | | | 0 | \$0.00 | \$ - |
| 0 | | | 0 | \$0.00 | \$ - |
| . 0 | | | 0 | \$0.00 | . |
| 0 | | | 0 | \$0.00 | s - |
| 0 | | | 0 | \$0.00 | s - |
| 0 | | | 0 | \$0.00 | 3 - |
| Ö | | | 0 | \$0.00 | \$ - |
| Ö | | | 0 | \$0.00 | \$ - |
| | | ↓ | 1 | CHEMICAL TOTAL | |
| | | | | CHEMICAL TOTAL | \$ 866.30 |
| | Water Transport | | <u> </u> | | |
| <u> </u> | | | 0 | \$0.00 | \$. |
| 0 | | | 0 | \$0.00 | \$ - |
| 0 | | | 0 | \$0.00 | \$ |
| | | | τ | RANSPORT TOTAL | \$ |
| | Content Floating Equipment (TAXABLE) | | | | |
| the state of the state of | | N. 49 | | 铁色源性 与基础 | 的基础的 |
| 0 | | | 0 | \$0.00 | \$ - |
| A MARKET AND CO. | Carlotte Company of the Company of t | | | PROPERTY AND THE | ACTION ASSESSMENT OF THE PARTY OF THE |
| 0 | | 1 | 0 | \$0.00 | \$. |
| Ö | | · · · · · · · · · · · · · · · · · · · | 0 | \$0.00 | \$ - |
| Programme Service Many | Post Shoe | | | | 2010 TO 100 |
| 0 | RANGE STATE | | Ι ο | \$0.00 | \$ - |
| THE PERSON NAMED IN COLUMN | Rook College | | g r gr - respect | | \$20840V |
| 0 | | ···· | I 0 | \$0.00 | \$. |
| | 74.54.104 | | | | |
| 0 | Guide Shore | - | | | • |
| | Buffle and Flagger Plates | | 1 0 | \$0.00 | 12/20/11/20 |
| 0 | Parte land Papper Plates | | | | _ |
| U | | 7 | 0 | \$0.00 | STREET AND THE PROPERTY OF THE |
| | A CANADA | finger for the party | | | 有的。 |
| 0 | Mr.E.WAu | | 00 | \$0.00 | 1 5 |
| | DI/Tools | <u> </u> | | | |
| 0 | | | <u> </u> | \$0.00 | <u> </u> |
| and the second distribution | Balt Valves, Swedges, Clemps, Misc, | The second second | <u>Period Allendor State</u> | | ARELON, IN A |
| 0 | | | 0 | \$0.00 | 5 - |
| 0 | | | 0 | \$0.00 | \$ - |
| 0 | | | 0 | \$0.00 | \$ - |
| \$. | Fluck and Bull Scalers | | 類談はい、U. To ture | 化基础设置 公司 | Call Tables 10 |
| 0 | | | 0 | \$0.00 | \$ - |
| and the same of the | Duantiple Tools | arinarijas ir 🏠 | OMEIDENT | 33.201/ 2523-323-323-323-323-323-323-323-323-323 | |
| 0 | | | ONFIDENTIAL | \$0.00 | \$ - |
| | · · · · · · · · · · · · · · · · · · · | · · · · · · · · · · · · · · · · · · · | CEMENT FLOATING E | | \$ - |
| | DRIVER NAME | | MAR 0 8 2014 10% | SUB TOTAL | \$ 2,331.96 |
| 473 | DONNIE | | MAR U 8 2014 10% | (-DISCOUNT) | \$ 233.20 |
| 419 | JAMES N | | | SALES TAX | \$ MARKET 14.72 |
| 6 T-93 | JOE H | | KCC DI | SCOUNTED TOTAL | \$ 2,163.48 |
| | | | KCC | | 7 71·W·// |
| | | | | | |
| | | | | 1 | |
| | | • | • | fi | |
| | John spunger. | | . 11 | \sim 1 | RECEIVE |

I ACKNOWLEDGE THAT THE PATMENT TERMS, UNLESS SPECIFICALLY AMENDED IN WRITING ON THE FORM OR IN THE CUSTOMER'S ACCOUNT RECORDS, AND UN OFFICE AND CONDITIONS OF SERVICE ON THE BACK OF THIS FORM ARE IN EFFECT FOR SERVICES IDENTIFIED ON THIS FORM.

RECEIVED
MAR 1 6 2012

KCC WICHITA



COMPANY SIGN TICKET AND TREATMENT DEDOGS

| Customer | NADEL &GUSSMAN | State, County | Chautauqua , Kansas | Cement Type | CLASS A |
|-------------------|----------------|---------------|---------------------|------------------|---------|
| Customer Acct# | SURF | Section | 0 | Excess (%) | 50 |
| Well No. | 0 | TWP | 0 | Density | 15.5 |
| Mailing Address | DJK-2A-WD | RGE | 0 | Water Required | 0 |
| City & State | 0 | Formation | 0 | Yeild | 1.18 |
| Zip Code | 0 | Hole Size | 12.25 | Slurry Weight | 0 |
| Contact | 0 | Hole Depth | 150 | Slurry Volume | 0 |
| mail | 0 | Casing Size | 9.625 | Displacement | 10 |
| Cell | 0 | Casing Depth | 146 | Displacement PSI | 200 |
| Office | 0 | Drill Pipe | 0 | MIX PSI | 200 |
| Dispatch Location | BARTLESVILLE | Tubing | 0 | Rate | 4 |

| est circ with H2Q. Run 50 SX 3% cal and .25 Pheno. Disp 10 BBC Leaving approx 15' in Casing, Cement to Surf. Thank you | | | | | |
|--|----------|--|--|--|--|
| WASHED OUT AROUND CASING AND SUB AND WASHED P | | | | | |
| | | | | | |
| | | | | | |
| | | | | | |
| | | | | | |
| | | | | | |
| | | | | | |
| | | | | | |
| | | | | | |
| | | | | | |
| | | | | | |
| | | | | | |
| | <u> </u> | | | | |
| | | | | | |
| | | | | | |



CONFIDENTIAL
MAR Ø 8 2014
KCC

RECEIVED
MAR 1 6 2012
KCC WICHITA

REMIT TO

Consolidated Oil Well Services, LLC
Dept. 970
P.O. Box 4346
Houston, TX 77210-4346

P.O. Box 884 Chanute, KS 66720 620/431-9210 • 1-800/467-8676 Fax 620/431-0012

| INVOICE | | ** | 246734 |
|--|--|------|--------|
| Invoice Date: 12/28/2011 Terms: 10/2 | | Page | |
| NADEL AND GUSSMAN, LLC 15 EAST 5TH STREET, SUITE 3200 TULSA OK 74103-4340 (918)583-3333 | DJK #2-A 182000206 12/27/11 16-32S-9E KS | | |
| | ======================================= | | ====== |

| Part Number | Description | Qty | Unit Price | Total |
|----------------------|--------------------------|---------|------------|---------|
| 1131 | 60/40 POZ MIX | 215.00 | | |
| 1126 | OIL WELL CEMENT | 55.00 | 18.8000 | 1034.00 |
| 1104S | CLASS "A" CEMENT (SALE) | 50.00 | 14.9500 | 747.50 |
| 1107A | PHENOSEAL (M) 40# BAG) | 160.00 | 1.2900 | 206.40 |
| 1110A | KOL SEAL (50# BAG) | 250.00 | .4600 | 115.00 |
| 1111 | SODIUM CHLORIDE (GRANULA | 550.00 | .3700 | 203.50 |
| 3123 | DIACEL F1 | 15.00 | 13.7500 | 206.25 |
| 1102 | CALCIUM CHLORIDE (50#) | 150.00 | .7400 | 111.00 |
| 1111A | SODIUM METASILICATE | 400.00 | 2.0000 | 800.00 |
| 1144 | SP-402 (MUD CLEAN AGENT) | 5.00 | 42.0000 | 210.00 |
| Sublet Performed | Description | | | Total |
| 9999-240 | CASH DISCOUNT | | | -318.03 |
| 9999-240 | CASH DISCOUNT | | | -633.19 |
| Description | | Hours | Unit Price | Total |
| T-99 MIN. BULK DELI | IVERY | 2.00 | 350.00 | 700.00 |
| T-133 CEMENT PUMP | · | 1.00 | | |
| T-133 EQUIPMENT MILE | EAGE (ONE WAY) | 60.00 | 4.00 | 240.00 |
| T-133 MISC. PUMP (CE | EMENT TRUCK) MIT WASH | 3.00 | 200.00 | 600.00 |
| T-133 CASING FOOTAGE | E . | 2774.00 | .22 | 610.28 |

CONFIDENTIAL MAR 0 8 2014

Amount Due 1666.72 if paid after 01/27/2012

Parts: 6331.90 Freight: .00 Tax: 472.99 AR 9033.95

Labor: .00 Misc: .00 Total: 9033.95 Sublt: -951.22 Supplies: .00 Change: .00

MAR 1 6 2012

Signed_________KEE WICHITA

#246734

CEMENT FIELD TICKET AND TREATMENT REPORT

| Customer | Nadal + Gussman | State, County | Chautaugua Kansas | Cement Type | CLASS A |
|-------------------|--|--|---|--------------------------|--|
| Job Type | 2 Stage Long String | Section | 16 | Excess (%) | 60 |
| Customer Acct # | 5701 | TWP | 32S | Density | 13.8/14.5 |
| Weil No. | DJK#2-A | RGE | 9E | Water Required | 10.0.14.0 |
| Mailing Address | | Formation | † <u>* = -</u> | Yeild | 1.7/1.55 |
| City & State | | Hole Size | 8 3/4 | Slurry Weight | 13.8/14.5 |
| Zip Code | | Hole Depth | 0.0/4 | Slurry Volume | 13.0/14.0 |
| Contact | | | 201511 (55 (25 186) | - | 100/22 |
| | | Casing Size | 7INCH, J-55 (26 LBS) | Displacement | 106/22 |
| Email | | Casing Depth | 2774 | Displacement PSI | 200-800 |
| Cell | | Drill Pipe | | MIX PSI | <u> </u> |
| Dispatch Location | BARTLESVILLE | Tubing | <u> </u> | Rate | 6-/ |
| Code | Coment Pump Charges and Mileage | Quantity | Unit | Price per Unit | |
| 5401 | CEMENT PUMP (2 HOUR MAX) | 1 | 2 HRS MAX | \$1,030.00 | \$ 1,030.0 |
| 5406 | EQUIPMENT MILEAGE (ONE-WAY) | 60 | PER MILE | \$4.00 | \$ 240.0 |
| 5407 | MIN. BULK DELIVERY (WITHIN 50 MILES) | 2 | PER LOAD | \$350.00 | \$ 700.0 |
| 5609 | MISC PUMP (CEMENT TRUCK) | 3 | PER HOUR | \$200.00 | \$ 600.0 |
| 0 | | | 0 | \$0.00 | \$ |
| 0 | | | 0_ | \$0.00 | \$ |
| 0 | | | 0 | \$0.00 | \$ - |
| 0 | | | . 0 | \$0.00 | \$ |
| 5402 | FOOTAGE | 2,774 | PER FOOT | 0.22 | \$ 610.2 |
| | | | | EQUIPMENT TOTAL | |
| | Coment, Chemicals and Weter | | | <u> </u> | 7 |
| 1131 | 80/40 POZMIX CEMENT W/ NO ADDITVES (40% POZ) | 215 | 0 | \$12.55 | \$ 2,698.2 |
| 1126 | WC. CEMENT (CAL SEAL) 6%OWC. 2% CAL, CLORIDE 2% GE | | Ö | \$18.80 | \$ 1,034.0 |
| 1104S | CLASS "A" CEMENT (SALES) BLEND(SK) | 50 | 0 | \$14.95 | \$ 747.5 |
| 1107A | PHENOSEAL | 160 | 0 | \$1.29 | \$ 206.4 |
| 1110A | KOL SEAL (50 # SK) | 250 | 0 | \$0.46 | \$ 115.0 |
| 1111 | GRANULATED SALT (50#) SELL BY # | 550 | 0 | \$0.37 | \$ 203.5 |
| 3123 | DIACEL FL, FLUID LOSS (50#/SX)sell by # | 15 | Ö | \$13.75 | \$ 206.2 |
| 1102 | CALCIUM CHLORIDE | 150 | 0 | \$0.74 | \$ 111.0 |
| 1111A | METASILICATE (GILLETTE& BARTLESVILLE)(50#) | 400 | Ö | \$2.00 | \$ 800.0 |
| 1144 | SP-402 (MUD CLEAN OUT AGENT (DV 1100) | 5 | 0 | \$42.00 | \$ 210.0 |
| 0 | CI TOZ (MOD DEBAT OD I NOCITI (DE 1100) | - | ŏ | \$0.00 | \$ - |
| | <u> </u> | <u> </u> | | CHEMICAL TOTAL | the same of the sa |
| | (141-4 | , | , | CHEMICAL TOTAL | <u>a</u> 0,331.8 |
| 0 | Water Transport | | 0 | 60.00 | <u> </u> |
| | | | | \$0.00 | <u> </u> |
| 0 | | | 0 | \$0.00 | \$ - |
| 0 | <u> </u> | L | 00 | \$0.00 | \$ |
| | T | | | RANSPORT TOTAL | \$ |
| · · · | Cement Floating Equipment (TAXABLE) | <u> </u> | Li | | L |
| | Cement Basket | | | | 2000年, |
| 00 | | L | 0 | \$0.00 | <u> </u> |
| | Centralizer | · | | | |
| <u>0</u> | | | 0 | \$0.00 | <u> </u> |
| 0 | | <u> </u> | 0 | \$0.00 | <u> </u> |
| | Float Shoe | , | | | |
| <u> </u> | | l | <u> </u> | \$0.00 | <u> </u> |
| | Ploat Collars | , | | | |
| 0 | | L <u></u> | 00 | \$0.00 | \$ |
| | Guide Shoes | | production of the state of the | | |
| 0 | | 1 | 0 | \$0.00 | } \$ |
| | Baffle and Flapper Plates | , | | | ANG PART OF THE REAL PROPERTY. |
| 0 | Parker Shoes | L | | \$0.00 | <u> </u> |
| | Packer Shoes | , | | I 60.00 | (<u>)</u> |
| <u> </u> | GV Tools | Ļ ; | 0 | \$0.00 | <u> </u> |
| | DV Tools | , | | | Mazina Le |
| 0 | New York on Constant Avenue Avenue Avenue | L.— | 0 | \$0.00 | - |
| | Ball Velves, Swedges, Clamps, Misc. | , | 3. 1 1 AVS | | 1 * |
| | | | 0 | \$0.00 | \$ - |
| 0 | | | 0 | \$0.00 | \$ - |
| 0 | Private and Bull Contains | L | <u> </u> | \$0.00 |] S |
| <u> </u> | Plugs and Ball Sealers | , | | | |
| 0 | | L | 0 | \$0.00 | S - |
| | Downhole Tools | | r | | • |
| 0 | <u> </u> | L | O CHENT FLOATING | \$0.00 | <u> </u> |
| | CARACTA STATE | | CEMENT FLOATING | | |
| 61 T133 | DRIVER NAME | { | 10% | SUB TOTAL (-DISCOUNT) | \$ 9,512.1 \$ 951.2 |
| 30 T99 | Williams, Chancey Lucas, Bryan | 001 | CIDENTIAI | SALES TAX | |
| 518 | | CUN | FIDENTIAL " | ISCOUNTED TOTAL | |
| | | ļ | | | \$ 9,0 33.95 |
| | | MA | R U 8 2014 | • | |
| | | 1414 | 11. A ft == 1. | | RECENTER |
| | <u> </u> | I | | | RECEIVED |
| ALFO COMPANY | John Granger | - | KCC | | • |
| AVINORIZATION | KIII THOUSE | · · · · · · · · · · · · · · · · · · · | 1)~ | | MAD 1 c 2012 |

MAR 1 6 2012

COMMON LIDATED ON THE DESCRIPTION NAME CEMENT FIELD TICKET AND TREATMENT REPORT

| Customer | Nadal + Gussman | State, County | Chautauqua , Kansas | Cement Type | CLASS A |
|-------------------|---------------------|---------------|----------------------|------------------|-----------|
| Customer Acct # | 2 Stage Long String | Section | 16 | Excess (%) | 60 |
| Well No. | 0 | TWP | 32\$ | Density | 13.8/14.5 |
| Mailing Address | DJK #2-A | RGE | 9E | Water Required | 0 |
| City & State | 0 | Formation | 0 | Yeild | 1.7/1.55 |
| Zip Code | 0 | Hole Size | 8 3/4 | Slumy Weight | 13.8/14.5 |
| Contact | 0 | Hole Depth | 0 | Slurry Volume | 0 |
| Email | 0 | Casing Size | 7INCH, J-55 (26 LBS) | Displacement | 106/22 |
| Cell | 0 | Casing Depth | 2774 | Displacement PSI | 200-800 |
| Office | 0 | Drill Pipe | 0 | MIX PSI | 0 |
| Dispatch Location | BARTLESVILLE | Tubing | O | Rate | 40639 |

| Office | O | Drill Pipe | 0 | MIX PSI | o |
|-------------------|--|--------------------------|----------------|---------------------------------------|-----------------|
| Dispatch Location | BARTLESVILLE | Tubing | 0 | Rate | 40639 |
| REMARKS | | | | | |
| Pumped 10 bbl a | head, 10 bbl mud flush, 10 bbl spacer, 135 | sks extandalite, 55 sks | owc, dropped d | v tool plug, displac | ed with 106 bbl |
| bumped plug @ | 1200psi, dropped dv tool dart, opened too | l @ 1100. | | | |
| 2nd Stage, pump | ed 10 bbl ahead, pumped 80 sks extendali | te, 50 sks 3% calcium, c | ropped closing | olug, displaced wit | h |
| 22 bbi bumped p | lug @ 2000psi, shut tool. Circulated 15 bb | ol cement to surface. | | | |
| | | | | | |
| | | | | _ - | |
| Salely | ить | | | | |
| Coop | | | | | |
| Chaner | | | | | |
| Brown | | | | | |
| Cases | | | | | |
| | | | | | |
| | | | | | |
| | | | | | |
| | | | | | |
| | | | | | |
| | | | | · · · · · · · · · · · · · · · · · · · | |

RECEIVED
MAR 1 6 2012
KCC WICHITA